Convert a non-Y2K compliant tree of employee records to a Y2K compliant tree.

Write a function that takes two BST’s of EmployeeRecord. Copies first tree to the second tree making sure that the YearOfBirth is greater than 1900, i.e. if YearOfBirth is between 0 and 99 then add 1900 to the YearOfBirth.

Void Y2Kcompliant(const BSTree<EmployeeRecord>& orig,

 BSTree<EmployeeRecord>& bet)

{

y2k(orig.root, bet.root);

}

void y2k(BinaryTreeNode<EmployeeRecord>* o,


BinaryTreeNode<EmployeeRecord>*& b)

{


if(o == NULL){ b = NULL; return;}


b = new BinaryTreeNode<EmployeeRecord>;


b->data = o->data;


if(b->data.YearOfBirth < 100) b->data.YearOfBirth+=1900;


y2k(o->Leftchild,b->Leftchild);


y2k(o->Rightchild,b->Rightchild);

}

template<class T>

BSTree<T>& BSTree<T>::operator=(const BSTree<T>& orig)

{

if(root == NULL) Delete();

y2k(orig.root, root);

return *this;

}

template<class T>

void y2k(BinaryTreeNode<T>* o,


BinaryTreeNode<T>*& b)

{


if(o == NULL){ b = NULL; return;}


b = new BinaryTreeNode<T>;


b->data = o->data;


y2k(o->Leftchild,b->Leftchild);


y2k(o->Rightchild,b->Rightchild);

}

· Last year’s midterm

· Create a Hashtable to store course records

Void main(void)

{

HashTable<CourseRecord> HC;

}

· Parse trees for BNF grammar

· Heap sort: Given a list of numbers shpw how heap sort will sort it

· Given a BSTree, show how the tree will look after deleting an item

· Decide whether a BSTree is an AVL tree

· Insert a given item in an AVL tree

· Create descendant of the ADTs we looked at this class: HashTable, BinaryTree, BXTree, BSTree

· Given a prefix expression create and evaluate a BXTree

· Mon Tues 12 pm to 2:30 pm

· Any other time 835-1963, Univ. e-mail address or lingras@sprint.ca

